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2.8 For the discrete-time signals x[n] and v[n] given in each of the following parts, compute
the convolution x[n] *v{n] forn = 0

(¢) x[n] = 2"forn < 3and x[n] = Oforn = 4;v[0] = 2,v[1] = —3,v[2] = 0,v[3] = 6,
v[n] = 0 for all other integers n.
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2.8 For the discrete-time signals x[n] and v[n] given in each of the following parts, compute
the convolution x[n] *v{n] forn = 0

(d) x[n] = 1/n for 2 =n =35 and x[n] =0 for all other integers n; v[2] = -2,
v[3] = =S5, v[n] = 0 for all other integers n.
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